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MATHS   TEST - 3  

1. What should come in place of the question mark in the 

following series? 2, 6, 14, 30, ?, 126 
gpd;tUk; vz; njhlhpy; Nfs;tpf; Fwpapl;l ,lj;jpy; 
tuNtz;ba vz; vJ? 2, 6, 14, 30, ?, 126 
a. 62 b. 72 c. 63 d. 73 

2. The value of x in 2 : x : x : 32 is 

gpd;tUgtw;Ws; x-d; kjpg;G vd;d? 2 : x : x : 32 
a. 64 b. 34 c. 30 d. 8 

3. A five rupee coin and a ten rupee coin are placed such 

that they touch each other. Sum of their areas is 117  

mm
2
 and distance between their centres is 15 mm then 

radii of both coins are respectively 

xU Ie;J &gha; ehzaKk; gj;J &gha; ehzaKk; 
xd;iwnahd;W njhLfpwhw;Nghy; itf;fg;gl;Ls;sd. 
mtw;wpd; gug;gsTfspd; $Ljy; 117  mm2 vdTk; 
mtw;wpd; ikaq;fSf;F ,ilg;gl;l J}uk; 15 mm 
vdTk; ,Ug;gpd; mt;tpU ehzaq;fspd; Muq;fs; 
KiwNa 
a. 6 mm, 9 mm b. 4 mm, 8 mm 

c. 9 mm, 12 mm d. 8 mm, 5 mm 

4. The measures of the angles of a triangle are in the ratio 5 

: 4 : 3. Find the angles of the triangle 

xU Kf;Nfhzj;jpd; %d;W Nfhzq;fspd; tpfpjq;fs; 
5:4:3 vdpy; Nfhz msTfisf; fhz;f. 
a. 65, 60 and 55 b. 85, 50 and 45 

c. 75, 70 and 35 d. 75, 60 and 45 

5. The diagonal of a square is 20cm. Find its perimeter 

xU rJuj;jpd; %iytpl;lk; 20 nr.kP vdpy; mjd; 
Rw;wsT fhz;. 
a. 202cm  b. 542 cm 

c. 402 cm  d. 562 cm 

6. When two dice are thrown  what is the probability of 

getting a doublet (same number on both dice)? 
,uz;L gfilfs; tPrg;gLk;NghJ ,uz;L 
gfilfspYk; xNu vz; tpo epfo;jfT 

a. 
36

1
 b. 

13

1
  c. 

12

1
  d. 

6

1
 

7. L.C.M. of 
3

2
 and 

9

5
 is 

 

3

2
 kw;Wk; 

9

5
 Mfpatw;wpd; kP.ngh.k vJ? 

a. 
3

10
 b. 

9

10
  c. 

18

10
  d. 

3

5
 

8. Ratio of surface area of a full sphere to the total 

surface area of a hemisphere having same radius is 

xNu Mu msT nfhz;l KOf; Nfhsj;jpd; 
Gwg;gug;gpw;Fk;> miuf;Nfhsj;jpd; nkhj;jg; 
Gwg;gug;gpw;Fk; cs;s tpfpjk; 
a. 4 : 3 b. 4/3 : 2/3 c.1:2  d. 2 : 1 

9. Find the value of x in the equation 
144

25
1 = 1+ 

12

x  

144

25
1 = 1+ 

12

x  vd;w rkd;ghl;by; x-d; kjpg;G 

fhz; 
a. x = 0 b. x = 1  c. x = 2  d. x = 3 

10. If 20 men can build a wall 112 meters long in 6 days. 

What length of a similar wall can be  built by 25 men 

in 3 days? 

20 Ml;fs; 6 ehl;fspy; 112kP  ePsKs;s Rtiu 
fl;b Kbj;jhy; 25 Ml;fs; 3 ehl;fspy; vt;tsT 
ePsr; Rtiuf; fl;b Kbg;ghh;? 
a. 40 meters  b. 50 meters 

c. 60 meters  d. 70 meters 

11. The radius of a circular park is 63 m. Find the cost of 

fencing it at Rs. 12 per meter 

xU tl;l tbt g+q;fhtpd; Muk; 63kP MFk;. xU 
kPl;lUf;F &.12 tPjk;> mjidr; Rw;wp Ntyp Nghl 
MFk; nryT vd;d? 
a. Rs. 4,752  b. Rs. 7,452 

c. Rs. 4,572  d. Rs. 4,672  

12. A sum of money quadruples itself in 24 years under 

simple interest scheme then rate of interest is 

xU njhif 24 Mz;Lfspy; jdptl;b tPjj;jpy; 
ehd;F klq;fhfpwJ vdpy; tl;btPjk; vt;tsT? 
a. 12.3% b. 12.5% c. 10%  d. 22% 

13. What will be the standard deviation of the set of 

numbers 1, 4, 7, 10, 13, 16, 19? 

1, 4, 7, 10, 13, 16, 19 ? vd;w njhlh; vz;fspd; jpl;l 
tpyf;fk; vd;d? 
a. 10 b. 6  c. 6  d. 36 

14. If m and n are whole numbers such that m
n
 = 121. 

Then find (m-1)
n+1

 

m kw;Wk; n KO vz;fs; kw;Wk; m
n = 121 vdpy; 

(m-1)n+1-d; kjpg;G fhz; 
a. 800 b. 1000  c. 900 d. 1020 

15. Deepa and Arun can do a piece of work in 20 days 

and 30 days respectively. They work together and 

Deepa leaves 5 days before the work is finished. Arun 

finished the remaining work alone. In how many days 

is the total work finished? 

jPgh kw;Wk; mUz; MfpNahh; xU Ntiyia 
KiwNa 20 ehl;fs; kw;Wk; 30 ehl;fspy; nra;J 
Kbg;gh;. mth;fs; ,UtUk; ,ize;J Ntiy 
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nra;a njhlq;Ffpd;wdh;. jPgh Ntiy Kbtjw;F 
5 ehl;fs; Kd;djhf epd;W tpLfpwhh;. mUz; 
jdpahf Ntiy nra;J me;j Ntiyia 
Kbf;fpwhh; vdpy; me;j Ntiy vj;jid ehl;fspy; 
KbtilAk;? 
a. 15 days b. 18 days  c. 12 days d. 20 days 

16. Sixty metres of a uniform wire wieghs 80kg. What 

will 141 metres of the same wire weigh? 

60kPl;lh; ePsKs;s rPuhd fk;gpapd; vil 80 fp.fp. 
vdpy;> 141 kPl;lh; ePsKs;s> mNj fk;gpapd; vil 
vt;tsT? 
a. 172 kg b. 168 kg c. 182 kg d. 188 kg 

17. 2x+13
 = 4

x+2
 then find the value of x 

2
x+13

 = 4
x+2

 vdpy; x-d; kjpg;G fhz; 
a. x = 13 b. x = 10 c. x = 9  d. x = 7 

18. If A = 
8

1

4

1

2

1
1   and B = 

2
1

A
  then B exceeds 

A by 

A = 
8

1

4

1

2

1
1   NkYk; B = 

2
1

A
  vdpy; B-

ahdJ A-If; fhl;bYk; vt;tsT mjpfk;? 

a. 
16

1
 b. 

8

1
  c. 

4

1
  d. 

2

3
 

19. The difference between 90% of a number and 72% of 

a number is 256 then 54% of that number is 

Xh; vz;zpd; 90% kw;Wk; mNj vz;zpd; 72% 
Mfpatw;wpd; tpj;jpahrk; 256 vdpy; mNj 
vz;zpd; 54% vd;gJ vd;d? 
a. 768 b. 652 c. 1024  d. 512 

20. A man reads 3/8 of a book on a day and 4/5 of the 

remainder, on the second day. If the number of pages 

still unread are 40, how many pages did the book 

contain? 

xUth; xU Gj;jfj;jpd; 3/8 klq;F gf;fq;fis 
Kjy; ehspYk;> kPjKs;s gf;fq;fspd; 4/5 klq;F 
gf;fq;fis ,uz;lhtJ ehspyk; gbf;fpwhh;. mth; 
gbf;fhky; ,Uf;Fk; gf;fq;fspd; vz;zpf;if 40 
vdpy;> mg;Gj;jfj;jpy; cs;s gf;fq;fspd; 
vz;zpf;if ahJ? 
a. 240 b. 310  c. 320  d. 415 

21. In a certain code language , 743 means Mangoes are 

good, 657 means Eat good food, and 934 means  

Mangoes are ripe. Which digit means ripe in that 

language? 

xU Fwpg;gpl;l FwpaPl;L nkhopapy;> 743 vd;gJ 
Mangoes are good (khq;fdpfs; ed;whf cs;sd 
vd;gijAk;> 657 vd;gJ  Eat good food (ey;y 
czTfisNa cz;zTk;) vd;gijAk;> kw;Wk; 
934 vd;gJ  Mangoes are ripe (khq;fdpfs; gOj;J 

cs;sd) vd;gijAk; Fwpf;Fk;. me;j nkhopapy; 
ripe (gOj;J) vd;gij ve;j ,yf;fk; 
Fwpg;gpLfpwJ. 
a. 5  b. 4  c. 9  d. 7 

22. A sum of money invested at compound interest 

amounts to Rs. 650 at the end of first year and Rs. 676 

at the end of  second year. The sum of money is: 

$l;L tl;b mbg;gilapy; KjyPL nra;ag;gl;l xU 
njhif Kjyhz;L Kbtpy; &.650 MfTk;> 
,uz;lhtJ Mz;L Kbtpy; &.676 MfTk; 
fpilf;fpwJ. me;jj; njhif vt;tsT? 
a. Rs.600 b. Rs.540 c. Rs.625 d. Rs.560 

23. The mother of Mohan is double the age of his sister 

and his father is 20 years older  than him. On the day 

of the birth of his sister Mohan was 5 years. If at 

present his sisters is 17 years then what is the age of 

Mohan's parents separately? 

Nkhfdpd; jha;> mtd; rNfhjhpia tpl ,uz;L 
klq;F mjpf taJk;> mtDila je;ij mtis 
tpl 20 taJk; mjpfKs;sth;fs;. Nkhfdpd; 
rNfhjhp gpwe;jnghOJ mtDf;F taJ 5> 
jw;nghOJ mtd; rNfhjhpapd; taJ 17 vd;why; 
Nkhfdpd; ngw;Nwhhpd; taJ vd;d? 
a. 34, 35 b. 38, 40 c. 30, 42 d. 42, 34 

24. If simple interest and compound interest on a certain 

sum for 2 years is Rs. 160 and Rs. 168 respectively. 

What is the principal? 

xU Fwpg;gpl;l njhiff;F 2 Mz;L fhyj;jpy;  
rhjhuz tl;b kw;Wk; $l;L tl;bahf KiwNa 
&.160 kw;Wk; &.168 fpilf;fpwJ vdpy;> KjyPl;Lj; 
njhif vt;tsT? 
a. Rs. 800  b. Rs. 1600  

c. Rs.2000  d. Data insufficient 

25. The traffic lights at three different road crossing 

change after 24 seconds, 36 seconds and 54 seconds 

respectively. If they all change simultaneously at 

10:15:00 AM, then at what time will they again 

change simultaneously? 

a. 10:16:15 AM b. 10:18:36 AM 

c. 10:17:02 AM d. 10:22:12 AM 
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Answer :  TEST  

1. A 

2. D 

3. A 

4. D 

5. C 

6. D 

7. A 

8. A 

9. B 

10. D 

11. A 

12. B 

13. C 

14. B 

15. A 

16. D 

17. C 

18. A 

19. A 

20. C 

21. C 

22. C 

23. D 

24. A 

25. B 


